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Answer all the questions.

I (a) Express 360 as a product of its prime factors.

2 A list of numbers are shown bclow.

36, _0.025, +,#,!, o.ii

From the list, write down

(b) Find the smallest positive integer t such that 360i< is a perfect cube.

Answer

Ans*er ..,................................ t2l

t2)

Answer .....,,.....,..,,.,..,.....,... tl]

Answer ............................... tll

4nswer,..........,,.....,..,........, t1]

(a) a negative integer.

(b) a perfect square.

(c) irrationalnumbe(s).
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3 (a) Estimate rhe following to 2 significant figures.

(D 25es6

(ii) 4010

(iil) 0.0s02

4 (r) Factorise xq-n+2q.

(b) Hence, furd the value of 39x70 -12x70 +-13x70 .

(b) Hence, estimate tbe valuo of 'l llll 1or"o to I significaut figure.
0.0502 x 100

Atswer tll

Answer,,,..,,...,..,........,,........... tU

Ans n-er,,....,....,. ....,,..., .......'.,.. t I ]

Answer tz)

Answa' trl

Ans*cr t21

I
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5 (a) SimPli&

(i) 2(n-5)-n,

(i') (a-b) . (a+zb)
4

Answer t2l

Awn*et t3l

Answer t21

Answer ..,.,....,,.....,,........,.,,.,... tU

tll

t.r1
LL]

3

(b) Factorise completely 3p(q -1) +p(q -l) '

6 The first four terms of a sequen ce arc 7 , 12, 17 and22.

(a) Write dowu ihe next term of the sequetrce.

(!) Find an oxpression, in terms of z, for the au term of the sequence.

Awwet'

(c) One term in the sequence is 252. Find the value of r for this term.

Arcn-er

(d) Explain, with a reason, is 200 is in the sequence?

Ansver

121
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7 Joshua cycled: ofhisjoumey at 12lon/h. He tben decreased his speed by 3 krn/h to
4

complete the remainingjourney in 2 h.

(a) What was the total dislance traveled by Joshua?

Answer ..,..........,.................,.l<rn [2]

(b) How tong did Joshua take to travel the whole joumef

Answer .,,.,.,,,.......'........ "..'...',h t3]

(c) What was Joshua's average speed for &e whole joumef
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7

B

c D

In the diagram, the straight line /, is parallel to CD and lC is parallel to ,8.
Qiven ZCAB =ll0' and /EDC = 45o, calculate the value of

(s) jr,

Answer x:

(b) v,

Answer y:

(c) z

tll

i1l

Answer z = ......,........................ t3]

A

zo
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B9

18'

D

AB,BCandCDte adjacent sides ofa regular polygon and ZCIS =18'. Find

(a) IABC,

c

(b) the number of sides of the polygon,

(c) ZACD.

Ans*er I.ABC =................. " [2]

Answer t2l

Answer ZACD =...,............. " []

END OF SECTION A
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Answer ell the questions,

10 Blessed Organisation plans to donate 440 packs ofbiscuits, 320 canned food and 200 kg
of rico to the old folls'home. The maximum number ofpacks ofbiscuits, canned food
and rice are to be placed equally in gift bags before the donation.

(a) How many gift bags are needcd?

Answer giftbags [2]

(b) How many ofeach items are there in each gift bag?

Ansoer packs of biscuits

carmed food

kg ofrice [3]

ll Without th€ us€ of a calculator, evaluate (17-11) +2O+4)x(-2)2.
Show yow working.

Answer,......,,,, t3l
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f2 (a) SimpliS and factorise completely each ofthe following expressions.

(D 3Pq+9P

Answ'er

(ii) 3w+36mx-l5mx

Answer

ttl

t2l

t3l

o) Solve 5 
=7^r+3 2x

Anso-er
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13 Danial is x years old. His brother Danish is 6 years younger than him. His father is 3

limes as old as Danial. Writo an algebraio expression in terms of :r for

(a) Danish's age,

twwer ..,..,...,,...,..,.,.... tU

(b) his father's age.

Answer ..........,........,.... t1]

The sum of Danial's ald Danish's age are 30.

(c) Write down a[ equation in, to represent this information, and show that it
reduces to 2x - 6 -- 30 .

Answer

t2)

(d) Solve the equation2x-6 = 30.

tztAnswer x =
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14 This is the table of values for the line y = 2v 11 .

(a) Complete the table above for the line y = z,7 a 1 .

O) On the grid oppositg draw tlre graph of y =2x+1 for 0 (.r (4.

(c) Stat6 the,-intercept ofthe line y=2x+1.

Answer

(d) Use your graph to find the value ofx when y : 2.

Ans n-er x =

(e) On the samc grid, draw the line y = 3 and labe1 it.

(f) Write down the gradient of y = 3 .

A swer

t2)

t2l

tu

tll

trI

tll

0 I 2 J 4

v I
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15 The diagram shows a soljd metallic prism whose cross-section is a trapezium ABCD.
BE = 10 cvt" BC : 9.5 cm, AD = 21.5 cmandD"I=35cm. rC is parallel tolD.

35

J

AE2l.5D

(a) Find the area of tapezium ABCD.

Answer cm2 121

(b) Hence, find the volume of the prism.

Answer cm3 1t 1

50 identical prisms were melted and poured into an open cylindrical tank with a
diameter of 0.8 m, as shown in the diagram below, Take a = 3.142 .

i,.,*

(c) If all the melted prisms could fill the tank completeln find the height of the tank

Answer cm [4]
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t0

(d) The extemal curved surface of lhe tank is coated with a protective layer.
Find the area ofthis prctective layer.

Answer

16 Construct 6l8C such that,{8 = l0cm, IBAC=75"nd Z,4BC =SQ"in the space

provided below. Measure and rvrite down the length of lC.

cm2 121

Answer AC-- cm [3]



BP-262

t1

17 Mr Tan brought his family for lunch in a restaurant. The receipt is as shown below.

r'is) Ree"r'6i-i':"01.2i3P3-o

^ TABIE: rzo

;:T*fr;u;s#iaa ,li,iiiseu'ffi13l
'-:-:---- ---.-- DINE lN ---'--<l Quid Greerr Tea

.l lafD Plaln llate.! lrled SalEon l(araI sashtnt Saladx I .iDressl ns: Sush i Tel* ' r*l{afuu oresslngI Hanasaki Ika Ter) Katsu Ctr_a Soba

I cill rasht Db;, llaaasak t lka ren
1 K8tsu Don

SI,'SIOIAL
l0Z Svr Cttrs
7t 8ST

t2.40
$0. 50
s4. 00
$9.90

t6. 30
sl4.50
tl0,80
36.30

s10.80

i6. ss
35.04

roTAL S77.OS

U08 Credlt Card 977. 09
Si gnature:--

Cl osed 8tt I- " * - - - . 
1 

?1d! 
/ 

69g? 1#;' _ _ - _ _ _ _,

Thank you
SEe you aoatntl*ft*Xra

(a) The receipt shows the 7% GST amount is $5.04.
Show how this amount is calculated.

Attsuer

tzl
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(b) The total amount $77.09 is printed on the receipt.
Show how lhis amount is calculated.

(c)

Answer

Mr Tan thinks that additional charges (service charge and GST) is 17%.

Do you agree? Explain with working.

Anstver

END OT'SECTION B

t2)

tll
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i:.i.:ttO:1 . .

1(a)
2
2
2
5

3

360
180

90

a4s

J

360 = 23 x3? xS

MI

AI

(b) lc=52x3
:'15

M1
A1

2 (t) -J7
t=

B1

&) JO BI
(c) 4tt

2

B1

3 (ai) 26 000 B1

3 (aii) 4000 BI
3 (aiii) 0.050 B1

3(b) 25956+4010 26000+4000

0.0502x100 0.050x100

= 6000

M1

A1

4 (a) xq-yq+zq=q(x-y+z) BI
4 (b) 39x70-12x70 +73x70 = 70(39 -12 +73)

= 70000)

=70 00

M1

A1
s (ai) 2(nz-5)-m=2m-10-ttt

= m-10
M1
A1

s(aii) (a-b) . (a+2b) _4(a-b) ,3(a+2b)
3412 12

_ 4a -4b +3a +6b

t2

M1

MI

AI
s(b) 3 p(q -1) + p(q -1) = (q -t)(3 p + p)

=apQ-1)

M1

6(a) 27 B1

1

BP - 265

t2
7a+2b
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Scc I Exprcss EOY f,.tUntht 2020 Scction A Mnrking Schcne Scttcr: Tnn IhYcc LiD

6(b) Str +7 B1

6(c)
7,, = 5n +2

252 = 5n+2

5n = 250

n=50

M1

A1

6 (d) No
7,, = 5n +2

200 = 5n+2

n =39.6

n has to be an integer. Thus not possible for 200 to be a term.

Or

200 = 5n+2

5n = 198

198 is not a multiple of5, thus it is notpossible for 200 to be a term.

B1

B1

7 (al I
4

of the joumey = (12-3)x2

= l8km

Total joumey = i 8x 4

=72Y'n

M1

A1

7(b)
n*1=sq

4

1
Time for the first ; 

joumey = 54 ;1 2

= +1r,
2

Total time = 2h +41h
2

=olrt
2

M1

M1

AI

2
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7(c) - Total distance
Arrcrase sneed = 

-

Total time

72

6.5
I

= I l.l kn/h or I l: Iory'h
13

M1

AI

8(a) x=110 (corresponding. Zs, BE l/AC) BI
8b zAcD +tro" =180. (int. zs, AB I lcD)

r =70

B1

8(c) A B

a"

gD

Draw a line passiog through E, parallelto AB and CD

f --70 (al'* Zs)

b=45" (alt.Zs)

z =70+45
=ll5

11ff

F

45"

MI

M1

A1

9(a) L4BC =180" -18'-l8o (Z sum of A)

=144"

M1
A1

e(b) Size of exterior angle = 180" - 144'

=36

Nu.bo of ,id". = 
36oo

36'

=10

M1

A1

3
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END OF MARKING SCHEME

OR

(r -2) x180
=144

n

180a -360 = 144tr

36n = 360

l=10

M1

A1

9(c) 1J4CD =144o -l9a
=126"

BI

4



BP- 269
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o

r0(a)

a) Maximum nunber of gift bags = HCF of440, 320 and 200

Repeated division with prime facton or individual print factorisation.

l0
2
I

440 320 200
M3220
22 16 r0
ll 8 5

HCF=10x2x2
=40

M1

A1

10(b)
Number packs ofbiscuits in each bag = 1 1

Number of can food in each bag = $

Weight of rice in each bag = 5 kg

B1
B1
B1

l1
[(17 - I l) + 20 +4] x (-2)'1 = (O + 5lx (4)

=(ll)x(4)
=44

MI
MI
A1

r2(ai) 3pq +9 p -3p(q +3) B1

l2(aii)
3ta +36tnx-lSmx =3nx +2lnx

=3x(n+7rn)

M1
AI

12(b)

57
.r+3 2x
5(2x) =l(v a31

l0x =7 x+21

l0x -7 x =21
3x =21
x=7

M1

M1

A1

13(a) Danish's age = (x-Q yean BI
13 (b) Danial's father's age = 3x years

13(ci)

Danial's age + Danish's age = 30

r+(r-6)=30
2x-6=30 (Shown)

r3(cii)

2x-6=30
2x =36
x=i8

MI

A1

I

B1

MI
A1
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I 2 30

5 1 9I

82

14(a)
Any2 right answers = I Inark

BI
BIof tl)e lineandConect ol of

Conect coordinates

BI:l
B1.:c = 0.5
BI
BIGmdient = 0

M1

A1

I
Area of Trapezium ABCD=:x(21.5 + 9.5) x I0'2

=lx3lx10
2

= 155 cmz

15(a)

BI
volume of one prism = 155 x35

= 5425 cnlls (b)

M1

M1

MI

AI

Since the melted prisms could fill the tank completely,

volume of tank = 271 250 cm3

3.142x40'xh=271250
. 27t250
11 = ---------------,

1.142x 4O'

n = 53.956

i = 54.0 (Conect to 3 sig. fig.)

Ler the height of dre taak be ll cm.

Volume of 50 prisms = 50 x 5425

=271250 cm)

Radius ofprism = 0.8+ 2

=0.4m
= (0.4x 100) cm

=40 cm

rs (c)

@

IIE
-l

ta6r
IUGIIIN6IItrEI

2

Refer to sraDh paper
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END OF MARKING SCHEME

J

rs (d)

Curved surface area of tank = 2 x 3. 142x 40x53.956

= 13562.38

= r3600(3s.,f)

OR

Curved surface area of tank = 2 x 3.142 x 40 x 54.0

=135'l8JA

= 13600(3s/)
ttlf using exact value of h ( tom part c), accept curved surface area as (!@!
(exact valuc)

M1

A1

M1
A1

16 B3

17(a)

10% rep $5.55

100% rep $65.50

7 o/o rep (65.50 + 6.55) x 7 %

=72.05x7o/o

=72.05x 
7

100

= 5.0435

=$s.oa @ d.p.)

[M1 for (6s.s0+ 6.ss)]

Accept when students add all the individual items to get 10070.

MI

A1

17(b)

Total amount ofthe bill

=72.05x107Yo

=72.05*107
I00

=77.0935

= $77.09 (2 d.p.)

OR

Total amount ofthe bill

=72.05+5.04 OR :65.50+6.55+5.04

=$77.09 ( 2 d.p)

M1

AI

M1
AI

r7 (c)

Total amount

= 65.50x1.17

=576.635 +377.09

Mr Tan is incorrect, BI

Refer to attachment


